N = 0l & At & M A

20138 = 20l &t Xot=22 E83H &A
SN BEAMD
M JHRolD ot@E He=ES 2e
9l XSHE0I8RYS RN SHEH) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
SHE 2 Mt 984,718 799,653 185,065
MRBLD MG H=2 22 984,718 799,653 185,065
Not=ol22g2 2 (Not=22 SE3lH) 984,718 799,653 185,065
Not=0l88g2 2 - 249 35,744 76,729 N 40,985
101 @121l 10,666 19,582 N8,916
04 JI2ZtH2Z2XNEE S 10,666 19,582 N 8,916
OXots=AEHZAI JIZEH 22X B 10,666
—QAHI(F,86X 52 EE)
57,8603 28U x 1 x6& 9,721
-E288a 9,720,480 x1.4% 137
- AMIHEEE 9,720,480& x0.705% 69
-z28d32 9,720,480 x4 .5% 438
-AAdE2EE 9,720,480& *2.90% 282
- ORI QAEE = 281,900 *6.55% 19
201 et Y| 20,778 4,647 16,131
01 AR 22l ] 18,728 2,732 15,996
OXBt+2E BSY 2TAM
300,000 *25JH A %23 15,000
OXlot#=0l28d=2 DXAN HZ 602 +8,0000H 480
OdioldEZIH) EH ¢ 175,000& *8H 1,400
OsAIEX #¢ 420
- A4 21,000 =128 A 252
- A3 21,000& 85 A 168
OXNotx=g2F& HA S A
7,000 x3Y 44 x 128 1,008
OXaots ABIEZAR TS| 420
-== 100,000& 3H 300
- & A3 40,0003 *3H 120
02 352494l 2,050 1,915 135
OXNot=0I2822 DAAN &s522 1,810
- ot 2703 *5001 x12& 1,620
-SI 1,900& 10021 190
OXdteE=EX 2= E AlH| 20,000& x12& 240
202 04| 1,800 0 1,800
01 2LHOHI 1,800 0 1,800
ORXlots AEHZAN & £=ZZHA O4H|
20,000 »3H x303] 1,800
203 ¥ R =&t 500 500 0
03 Al =X H 2 =X Y| 500 500 0
ORXlote22 gRFX| 500
401 Al EHI L 2O 2,000 52,000 ~50,000




SN HEAMD
Mz JiRolD NS HE=S 22
S Xot=02eEe2 2 (Not=22| S35 H) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o &@ﬁ HRE2
01 Al& H| 2,000 52,000 A 50,000
EUpNIEE RPN 2,000,000 *x1Z2 2,000
ol g1 8] 948,974 722,924 226,050
801 ol Bl bl 948,974 722,924 226,050
01 olldl bl 948,974 722,924 226,050
oolglgl 948,974




